

ILODIBE ANTHONY UDENNA

COMPUTER ENGINEERING

19/ENG02/026

SERIAL NO: 35

MAT 104

i) $(11-3x)$

$$x^2 + 2x - 3$$

$$\frac{11-3x}{x^2+2x-3} = \frac{11-3x}{(x-1)(x+3)}$$

$$\frac{11-3x}{(x-1)(x+3)} = \frac{A}{(x-1)} + \frac{B}{(x+3)}$$

$$11-3x = A(x+3) + B(x-1)$$

$$\text{let } (x-1) = 0$$

$$x = 1$$

$$11-3(1) = A(1+3) + B(1-1)$$

$$11-3 = A(4) + B(0)$$

$$8 = 4A$$

$$A = 2$$

$$\text{let } (x+3) = 0$$

$$x = -3$$

$$11-3(-3) = A(-3+3) + B(-3-1)$$

$$11+9 = A(0) + B(-4)$$

$$20 = -4B$$

$$B = -5$$

$$\frac{11-3x}{(x-1)(x+3)} = \frac{2}{(x-1)} + \frac{-5}{(x+3)} + C$$

$$\int \frac{11-3x}{x^2+2x-3} = \int \frac{2}{(x-1)} - \int \frac{5}{(x+3)} + C$$

$$= 2 \log_e(x-1) - 5 \log_e(x+3) + C$$

$$= \log_e \frac{(x-1)^2}{(x+3)^5} + C$$

$$\textcircled{2} (2x^2 - 9x - 35)$$

$$(x+1)(x-2)(x+3)$$

$$2x^2 - 9x - 35 = \frac{A}{x+1} + \frac{B}{x-2} + \frac{C}{x+3}$$

$$(x+1)(x-2)(x+3) = (x+1)(x-2)(x+3)$$

$$2x^2 - 9x - 35 = A(x-2)(x+3) + B(x+1)(x+3) + C(x+1)(x-2)$$

$$\text{let } (x+1) = 0$$

$$x = -1$$

$$2(-1)^2 - 9(-1) - 35 = A(-1-2)(-1+3)$$

$$2 + 9 - 35 = A(-3)(2)$$

$$-24 = A(-6)$$

$$-24 = -6A$$

$$A = 4$$

$$\text{let } (x-2) = 0$$

$$x = 2$$

$$2(2)^2 - 9(2) - 35 = B(2+1)(2+3)$$

$$8 - 18 - 35 = B(3)(5)$$

$$-45 = B(15)$$

$$-45 = 15B$$

$$B = -3$$

$$\text{let } (x+3) = 0$$

$$x = -3$$

$$2(-3)^2 - 9(-3) - 35 = C(-3+1)(-3-2)$$

$$18 + 27 - 35 = C(-2)(-5)$$

$$10 = C(10)$$

$$10 = C(10)$$

$$C = 1$$

$$\frac{2x^2 - 9x - 35}{(x+1)(x-2)(x+3)} = \frac{4}{x+1} + \frac{-3}{x-2} + \frac{1}{x+3}$$

$$\int \frac{2x^2 - 9x - 35}{(x+1)(x-2)(x+3)} = \int \frac{4}{x+1} - \int \frac{3}{x-2} + \int \frac{1}{x+3} + C$$

$$\begin{aligned} &= 4 \log_e(x+1) - 3 \log_e(x-2) + \log_e(x+3) + C \\ &= \log_e \frac{(x+1)^4 (x+3)}{(x-2)^3} + C \end{aligned}$$

③ $\frac{1}{(x^2+121)}$

$$\begin{aligned} &= \int \frac{1}{(x+11)^2} = \int (x+11)^{-2} \\ &= \frac{(x+11)^{-2+1}}{-2+1} + C \\ &= \frac{(x+11)^{-1}}{-1} + C \\ &= \frac{-1}{(x+11)} + C \end{aligned}$$